10. Kaknm MmoxeT BbITb POCT y4eHuubl 4 knacca?

A 1m95cm B 95cm
BE 2m45cm [ 1m39cm

I'— 1M 39¢cm




10. Kakum MOXeT BbITb pOCT y4eHuKka 4 knacca?

A 80 cm B 1M56cm B
E 1M 98 cm [ 2m40c™m

10. Kaknm MoXeT BbITb POCT ydeHuKa 4 knacca?

A 1M 99 cm B 2mM30cm
B 90 cwm [ 1m51cm F

10. Kakum MOXeT ObITb pOCT ydeHuUbl 4 knacca?

A 85cm B 2M19cm
E 1m48 cm [ 1m93cm B




11. CpaBHK 1 4 10 MuH 1 80 MUH.

A 1410 MuH > 80 MUH
E 1410 muH <80 muH
B 1410 muH =80 MuH

b- <

1 yac= 60 muua+ 10Muu=70
70 < 80




11. CpaBHM 1 4 50 MUH 1 120 MUH.

A 1450 MUH <1
E 1450 MuH >~

B 1450 MuMH ="

20 MUH
20 MUH
20 MUH

11. CpaBHn 120 MUH 1 1 440 MUH.

A 120 MuH <1 440 MuH
E 120 muH > 1 440 muH
B 120 muH = 140 MmuH

11. CpaBHu 90 MuH 1 1 4 20 MUH.
A 90 MnH <1420 MuH

E 90 MmuH =120 MuH
B 90 muH > 14 20 MmuH







415 516 516
X 82 x 74 x 93

34030 38184 47988
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